
SAP ABAP table VV_T5DBF_01_AL0_03 {Generated Table for View}

VV_T5DBF_01_AL0_03

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

MOURA [NUMC (2)]

TGG01 [CHAR (2)]

BAUTY [CHAR (1)]

BAUTU [CHAR (1)]

URALT [NUMC (2)]

URBTZ [NUMC (2)]

BEHGR [CHAR (2)]

ENDDA [DATS (8)]

URKAS [CHAR (2)]

URAR1 [CHAR (2)]

GLGA1 [CHAR (4)]

ELGA1 [CHAR (4)]

URAR2 [CHAR (2)]

GLGA2 [CHAR (4)]

ELGA2 [CHAR (4)]

URAR3 [CHAR (2)]

GLGA3 [CHAR (4)]

ELGA3 [CHAR (4)]

URAR4 [CHAR (2)]

GLGA4 [CHAR (4)]

ELGA4 [CHAR (4)]

URAR5 [CHAR (2)]

GLGA5 [CHAR (4)]

ELGA5 [CHAR (4)]

URAR6 [CHAR (2)]

GLGA6 [CHAR (4)]

ELGA6 [CHAR (4)]

URAR7 [CHAR (2)]

GLGA7 [CHAR (4)]

ELGA7 [CHAR (4)]

T000

MANDT [CLNT (3)]

 VV_T5DBF_01_AL0_03-MANDT = T000-MANDT 

0..N

1

T500L

MOLGA [CHAR (2)]

 VV_T5DBF_01_AL0_03-MOLGA = T500L-MOLGA 

0..N

1

T512W

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

LGART [CHAR (4)]

ENDDA [DATS (8)]

 VV_T5DBF_01_AL0_03-ELGA1 = T512W-LGART 

0..N

{0,1}

 VV_T5DBF_01_AL0_03-ELGA2 = T512W-LGART 

0..N

{0,1}

 VV_T5DBF_01_AL0_03-ELGA3 = T512W-LGART 

0..N

{0,1}

 VV_T5DBF_01_AL0_03-ELGA4 = T512W-LGART 

0..N

{0,1}
 VV_T5DBF_01_AL0_03-ELGA5 = T512W-LGART 

0..N{0,1}
 VV_T5DBF_01_AL0_03-ELGA6 = T512W-LGART 

0..N
{0,1}

 VV_T5DBF_01_AL0_03-ELGA7 = T512W-LGART 

0..N

{0,1}
 VV_T5DBF_01_AL0_03-GLGA1 = T512W-LGART 

0..N

{0,1}
 VV_T5DBF_01_AL0_03-GLGA2 = T512W-LGART 0..N

{0,1}
 VV_T5DBF_01_AL0_03-GLGA3 = T512W-LGART 

0..N

{0,1}
 VV_T5DBF_01_AL0_03-GLGA4 = T512W-LGART 

0..N

{0,1}
 VV_T5DBF_01_AL0_03-GLGA5 = T512W-LGART 

0..N

{0,1}

 VV_T5DBF_01_AL0_03-GLGA6 = T512W-LGART 

0..N

{0,1}

 VV_T5DBF_01_AL0_03-GLGA7 = T512W-LGART 

0..N

{0,1}

T533

MANDT [CLNT (3)]

URMO [NUMC (2)]

URAR [CHAR (2)]

 VV_T5DBF_01_AL0_03-URAR1 = T533-URAR 

0..N

{0,1}

 VV_T5DBF_01_AL0_03-URAR2 = T533-URAR 

0..N

{0,1}

 VV_T5DBF_01_AL0_03-URAR3 = T533-URAR 

0..N

{0,1}

 VV_T5DBF_01_AL0_03-URAR4 = T533-URAR 

0..N

{0,1}

 VV_T5DBF_01_AL0_03-URAR5 = T533-URAR 0..N

{0,1}

 VV_T5DBF_01_AL0_03-URAR6 = T533-URAR 
0..N{0,1}

 VV_T5DBF_01_AL0_03-URAR7 = T533-URAR 

0..N{0,1}

T5D0T

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

TGGTY [CHAR (2)]

TRFGG [CHAR (2)]

 VV_T5DBF_01_AL0_03-TGG01 = T5D0T-TRFGG 

0..N

1

T5DBA

MANDT [CLNT (3)]

ZVKAS [CHAR (2)]

ENDDA [DATS (8)]

 VV_T5DBF_01_AL0_03-URKAS = T5DBA-ZVKAS 

0..N

{0,1}


